ok 540 k9] groll BAglel A AU 1, xy o] ghe Fatelt

kol giste] Wdzeo = A2|shd
(2x4+3y+5)k+(3x-y=-9)=0
o|AL2 kol tiet 5 AlolE=

2x+3y+5=0
3x-y—-9=0
AYLPAL FA v =2, y= -3

=-6
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A axd + a2 -4 72 4 x - 22 o] ol T2 4 b
o, a2} b2 HS F5HH?
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ax® +bx? -4 = (x> + x - 2)(ax + 2)
0‘?'33_7‘*7110}01 A& Bl astd
a=1,b=3 .. ab=3




3.

xOfl TRY AR X3 4 mx® 4 nx 4+ 1& x— 1 2 U UpolEo] 2 1,
x+22 e ez 3oleh, o] u, m—n o] gh2?

D -2 ® -3 ® -4 @ 2 ®)4

B ,

BAma?tnx+1=(x-1)0Q(x)
=(x+2)0 (x)+3

Qo] x = 1 Phedat

1+m+n+1=0

mtn=-2---Q

Qo] x = 28 BjIae

-8+4dm-2n+1=3

2m-n=5---©

@, O m=1,n=-3

om—-—n=4




x o et oA f(x) & 2% -3x+2 B WS WY U AT x+4
o]1, x* —4x+ 3 22 Y lS o] U7t 2x + 3 A W, f(x) B
x3 =627 + 11x - 6 02 HF3lS w o] U2 E R(x) 2t 5k2F o]
R(10) 9] #k2?

@ss @5 @0 @92 6w

~&B

f(X)Z( 1)(x-2)Q0(x) + X+4
~f(1) =5,£(2) =6

f(X)=( D(x-3)P(x )+2X+3
~f(1)=5.f(3) =9

f(x) =( D(x=2)(x-3)Z(x )+R( )

R(x) =ax’> +bx+c--©

@, ©F ©°l 27 i dstH,
a+b+c=05,4a+2b+c=6, 9a+3b+c=9
AAES Aot EH, a=1, b=-2,c=6
R(x) =x*-2x+6

- R(10) = 86




5. (1-x-x*% =ag+arx+axx®+ -+ agox®® + asox®° ]2t & of,
ap + as + as + -+ + aso & 27

@O @ 1 @ 224 @ 225 @ 250

S5 )
(1-x-x?)% =ag+ a1x+ asx® + -+ - + azox*°

x =12 g tidstH

-l=ag+a1+az+-+as-D

x=-1< ol diddstd
l=ap-a1+az—az+---—ayp+as @

O+®@: 2(ag+az+as+---+as) =0
ag+as+ayg+ .. +as0 =0




